YEAR 11 — NON-LINEAR GRAPHS

I [By the end of this unit you shoukd be. abke to Mathswatch clp | Video tutorial : | :
: * Pht & read from quadrate graphs 98 Corpett | : :
| |2 Pot & read from cubc graphs 6l MathsGene | 1 |
I [~ Plot & read from recprocal gyaets 6! VatrsGere | || |
: + Recognise graph shapes | : :
| [ * Wentfy & ntempret roots & rtercepts of quadratics 160 ¥ I
I'[« Understand & use exponential graps (H) %4 Corbett : ' // I
: + Find ond e the equation of a circk centre (00) () 97 Corbelt | : :
1| < Find the equation of the tangent to any curve () 208 Corbett H |

: Feywords

| Quadratic: an expression n which the highest power is 2, such as x2 — 5x + 3

: Cubic: an expression in which the highest power s 3, sch as 8 + x3

| Estimate: read approxmate vales from a graph

: Osymptote: a Ine that a cunve approdches, but never quite touches

| Gradent: the steepness (or slope) of a ire. O negative gradent mears the Ine slopes downhil
: Substitute: put numbers n place of ktters to find the valve of an expression

| Reciprocak a graph with an equation of the form y = gwherekts a number

: Roots: the solitions when an equation equaks zero (often the x-ntercepts of a graph)

| Exporential a graph with an equation of the form y = k* where k is a rumber

: Tangent: a straight Ine touching a curve which can be used to estimate the gradent of the curve at that point
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‘Uphil’ f the x3 term is positive, Downnil if the x> term & regalive,

Roots are where the cune suchas y = %> -4x + § schasy=-3C+x3+ 7
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